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‘ (English Version)
Note : (i) You must write the subject-code / paper-code  026/A in the box provided on the title
' page of your answer-book.
(1) Make sure that the answer-book contains 30 pages (including title page) and are
properly serialed as soon as you receive it.
(iii) Question/s attempted after leaving blank page/s in the answer-book would not be

evaluated.

(iv) All questions are compulsory.

(v) Question paper contains 4 questions which are having 33 sub parts in all and has four
Parts-A, B, C and D.

(vi) Part-A Contains one objective type question having 10 subparts carrying one mark
each. Answer to one mark sub parts (questions) should be given in one word to one
sentence.

(vii) Part-B Contains question No. 2 which has 10 very short answer type sub parts
(questions) carrying 2 marks each. Answer to each sub parts (questions) should be
given in 30-35 words.

(viii) Part—C Contains question No. 3 which has 9 short answer type sub parts (questtons)
3 sub parts (questions) contain internal choice. Each sub part (question) carries
4 marks each. Answer to these sub parts (questions) should be given in 60-70 words.

(ix) Part-D Contains question No. 4 which has4 sub parts. All sub parts (questions) have

~ internal choice. Each sub part(question) carries 6 marks. Answer to these sub parts
(questions) should be given in 150-200 words.

© Part-A
(One Mark Questions)
1. O‘bj‘ective Type Questions (All questions are compulsory)
() Who has given the“Scarcity’ definition of economics ? ' 1

(ii) Choose the right answer:
The other name of the Price Theory i ceveerrsennienes
(a) Macro Economics (b) Price Controlling
(c) Micro Economics | (d)  Political Science -
(iii) Which are various changes along demand curve 7

(iv) Choose True/False

According to proportionate method ......... PED =(-) A

(v) Fill mthe blanks : AFC —T—E (Q, TC)
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(vi) The flow of goods and services is called ...veeneenne.

(a) Monetary Flow (b) Economic Flow
(c) RealFlow (d) None ofthe above 1.
(vii) What is voluntary unemployment ? 1
(viii) IfMPS=0.75, then what will be the MPC? 1
(ix) What is meant by budget deficit ? 1
~ (x) WhatisBalance of Trade ? | 1
10%x1=10
Part-B
(2 Marks Questions)
2.  (Very Short Answer Type Questions) All Questions are compulsory.
(i) Which are the principal causes of emergence of Economic Problem ? 2
(ii) Dueto20% decreasein pricé the demémd of a commodity increased to 40%. Find out the
Price Elasticity of Demand. o 2
(iii) Complete the following table : . ‘ 2
Units sold 1 2 3 4 5
Total Revenue 10 - 28 54 88 130
Average Revenue| -- - - W -

(iv) What is meant by Total Product ?
V) _Defme Price equilibrium.
(vi) Calculate Value Added from the given data.

Items (Rs. in Crore)

(a) Value of output . 10,000

(b) Intermediate consumption 2,555
(c) Consumption of Reserved Capital 575 2
(vii) What is Average Propensity to Consume ? | 2
(viii) .What is monetary system of exchange ? 2
(ix) Whatis E-Banking? . )
(x) Calculate the value of Balance of Trade when the value of imports are 70,050 crore rupees
and the vglue of exports are 85,025 crore rupees. : )

10%2=20
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Part-C

(4 Marks Questions)

3.  Answer the following questions in 60-70 words :

(i) Write any four limitations of Macro Economics.

or

Explain the Law of Demand with the help of diagram.
(ii) Complete Y’s demand from the following Schedule :

4
4

Price
(Rs.)

Demand of X
(in Meters)

Demand of Y
(in Meters)

Demand of Z
(in Meters)

Demand of Market
(in Meters)

1 50 50 125
2 35 40 95
3 15 20 55
4 i - 10 27

(iii) Explain the Law of Supply with the help of diagram. - : 4
or

Describe the concept of Opportunity Cost with diagram. 4
(iv) Find outthe Net Domestic Productat Factor Cost (NDP at FC) from the given data below:
(Rs. in Crore)

(a) Gross Domestic Product at market price. 1,800

(b) Depreciation 175

(c) Indirect Taxes ' 225

(d) Subsidy 100 4
(v) The MPC in an economy is 0.75 and the National Income is ¥ 200 crore. How much

will be the total National Income if the increased investment is ¥ 450 crore ? 4

Items

(vi) What is meant by Excess Demand ? Explain it with the help of diagram. 4

or
Explain any four methods of credit control used by Central Bank.

(vii) Describe fixed Exchange Rate.
high powéred money ? Why is it called high powered money ?

E N L

(viii) What is

(ix) Write about Non-Tax Receipts of the Government.

9x4=36
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Part-D
(6 Marks Questions) .
4.  Answer the following questions in 150-200 words. d Diagram.
(i) What is meant by Production Possibility Curve ? Explain it with schedule an 6

or . .
rium 1n

What is meant by consumer’s eq_pilibriu 2+4=6
Consumption of Single commodity case.
(i) Give the meaning of Total Revenue, Marginal Revenue and Average Revenue concepts.
Describe their relationship among themselves. 3+3=6
. or
What is meant by Monopoly market ? Describe its features.
(iii) Find out from the following data:
(a) Net Domestic Product at Factor Cost
(b) National Income
Items _ (Rs. in Crore)
(i) Net Factor Income fromAbroad 175
(ii) Operating Surplus ‘ 690
(iii) Dividend o 95
(iv) Compensation of Employees 800
(v) Mixed Income 1,250 o 6
_ or :
Find out on the basis of the following given data :
(@) Gross Domestic Product at Market Price
(b) National Income
Items (Rs in Crore)
(i) Government Final Consumption Expenditure 790
(i) Private Final Consumption Expenditure 1,999
(iii) Fixed Capital Formation , 1,051
(iv) Consumption of Fixed Capital . 200
(v) Net Export . 150
(vi) Ngt increase in Stock 205
(vii) Net Factor Income from Abroad 400
(viii) Net Indirect Taxes 165
(iv) What is Barter System of Exchange ? Discuss its drawbacks. ‘ ' 6
‘ or 1+5=6

What is meant by disequilibrium in Balance of Payments ? What are jts causes
' es? 1+5

m ? Describe consumer’s equilib

1+5=6

=6
4x6=24
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